®

Performance & O0ff-Road

INSTALLATION INSTRUCTIONS
Part No. 81104
MAGNUM GRIP PRO STICK™
UNIVERSAL SHIFTER w/DUAL
MOMENTARY 12V SWITCHES

for the automatic transmissions listed below,

with applicable gate plate

(kit includes 3-speed forward-pattern gate plate)

Parts Breakdown

DESCRIPTION

3

SHIFTER ASSEMBLY

BOLT, 1/4-20 x 1-1/4"

MICRO-SWITCH

BRACKET, MICRO-SWITCH

SCREW, 4-40 x 5/8"

WASHER, SPLIT LOCK #4

NUT, HEX 4-40

SCREW, 10-24 x 3/8"

CABLE, SHIFTER, SUPER-DUTY 5'

E-CLIP, 1/4" I.D.

BOLT, 1/4-20 x 1/2"

NUT, HEX 1/4-20

WASHER, SPLIT LOCK 1/4"

SELECTOR LEVER, CHRYSLER / AMC

CABLE BRACKET, CHRYSLER / AMC

SELECTOR LEVER, FORD C4 / C5 and C6

CABLE BRACKET, FORD C4 / C5

CABLE BRACKET, FORD C6

SELECTOR LEVER, GM TH & ELECTRONIC

CABLE BRKT, GM TH & ELECTRONIC (NO PRNDL SWITCH)

BOLT, 1/4-20 x 1-1/2"

BOLT, 5/16-18 x 1"

BOLT, M8-1.25 x 25 (FOR GM & FORD 4-SPEEDS)

WASHER, FLAT 5/16"

SPACER, 7/16" I.D. x 1/4" L

SWIVEL, CABLE

JAM NUT, 10-32 (COMES INSTALLED ON CABLE END)

PIN, COTTER 1/16" x 1"

WIRE TERMINAL, FEMALE, 1/4", BLUE, 16-14 AWG

WIRE CONNECTOR, BUTT, RED, 18-22 AWG

COVER, PRO STICK

SPACER, NYLON, 1/4" I.D. x 5/16" THK

SPACER, NYLON, 1/4" |.D. x 3/16" THK

PIN, QUICK-RELEASE

DECAL SHEET, SHIFT PATTERN

HANDLE, REVERSE LOCKOUT LEVER

SCREW 8-32 x 3/8"

RlR|Rr[(NwWR|R|BNRr(R| RN NN R (RRRR | RrR| RO o |R R R[(RINN N R R D






